
 

Straight Line Graphs – Questions 

 

Q1) Work out the gradient of the straight line passing through these points.    

        a) 𝐴 = (2, 5), 𝐵 = (3, 7)                

        b) 𝑃 = (−1, 0), 𝑄 = (0,−1)             

        c) 𝐴 = (−3,−5), 𝐵 = (4, 7)       

        d) 𝑅 = (4,−2), 𝑆 = (−3,−2)       

 
Q2) Find the equation of the following straight lines.  

        a) Gradient = 4 and passing through the point (1, 3) 

        b) Gradient = −1 and passing through the point (−1, 4) 

        

  Q3) Work out the equation of the straight line passing through these points.          

          a) 𝐶 = (2, −4), 𝐷 = (3, 7)                    b) 𝑅 = (2,−3), 𝑆 = (4, −2)           

 

Q4) Find the points where the following straight lines intercept the co-ordinate axes.

        a) 𝑦 = 3𝑥 − 5            

        b) 𝑦 = −2𝑥 + 7            

       c) 2𝑦 = 4𝑥 + 6           

        d) 
1

2
𝑦 = −3𝑥 − 5           

 

Q5) Work out the gradient and y-intercept of the following straight lines.  

        a) 𝑦 = 2 − 6𝑥             

        b) 2𝑦 = 4𝑥 + 8                 

        c) 𝑦 − 8 = 2𝑥                   

        d) 3𝑦 = −𝑥 + 9 

 

Q6) Work out the point where the following straight lines intercept the 𝑥 axis.       

        a) 2𝑦 = 4 − 8𝑥           

        b) 9 − 4𝑦 = 3𝑥           

        c) 5𝑥 = −2𝑦          

        d) 3𝑥 = 6 − 2𝑦          

 

 

 

 

 

 



 

Straight Line Graphs – Solutions 

 

Q1) a) 𝑚𝐴𝐵 = 1 

        b) 𝑚𝑃𝑄 − 1 

        c) 𝑚𝐴𝐵 =
12

7
 

        d)  𝑚𝑅𝑆 = 0 

 

Q2) a) 𝑦 = 4𝑥 − 1         b)  𝑦 = −𝑥 + 3 

 

Q3) a) 𝑦 = 11𝑥 − 26         b) 𝑦 =
1

2
𝑥 −

3

2
 

 

Q4) a) y-intercept = (0, −5)         𝑥-intercept = (
5

3
, 0) 

        b) 𝑦-intercept = (0, 7)         𝑥-intercept = (
7

2
, 0) 

        c) y-intercept = (0, 3)       𝑥-intercept = (−
3

2
, 0) 

        d) y-intercept = (0, −10)        𝑥-intercept = (−
5

3
, 0) 

  

Q5) a) Gradient = −6                  y-intercept = 2 

        b) Gradient = 2                    y-intercept = 4 

        c) Gradient = 2                   y-intercept = 8 

        d) Gradient = −
1

3
                 y-intercept = 3 

 

Q6) a) 𝑥-intercept = (
1

2
, 0)     b) 𝑥-intercept = (3, 0) 

        c) 𝑥-intercept = (0, 0)                    d)  𝑥-intercept = (2, 0) 

 


